Efficiency vs Dxy(PV)
1.2

iy

o
)

efficiency vs dxy(PV)

o
o

o
»

9525 = 20 15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm

—=— DQM_V0001_R000000001__Global_CMSSW_org
—— DQM_V0001_R000000001__Global__CMSSW_pl08
—— DQM_V0001_R000000001__Global__CMSSW_pl075
[ Efficienc] —— DQM_v0001_R000000001__Global__CMSSW_pl07

o
©

efficiency vs dxy(PV.

o
ey

o
IS
H

TP dxy(PV) '(cm)

Efficiency vs Dz(PV)
1.

< l2p T T T
o L . . :
§ f : :
A SRR PR AL R P
< : £ :
19 F : : :
& 08p-eeees 1{ e
s I : : :
E r H H .
(5] o . .
0.6 e eeeeees F L A Lo
0.4 Feeees R AP Lo
0.2f--e e P ErEE Feeens
I i i | i i
o +¥ 4
g :
@ .
h-e-- e PR L L T P
0¥ =20 -0 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1. -

a :

S e e o

2 L) :

> %H*’:"*#} :

5 08 % St

° :

5 : %
0.6 I PPROTS B B R
oaf-4H--R-4f - foeeeas T :

i i i i

g i

© :

ox ||I|.:.||||| o

1 ||||:||||| ¥
005 0

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


